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1. (a) Suppose that the firm’s markup over cost 18 5%,

and the wage-setting equation 1s

W =P (1-u), where u is the unemployment rate.

(i) What is the real wage as determined by
the price setting equation?

(i) Suppose that the markup of price over cost

increases to 10%. What happens to the

natural rate of unemployment.

(b) Use the wage setting and price setting (WS-PS)

diagram to show how the following factors impact

the unemployment rate and real wages.
- (i) An increase in unemployment benefits.

(i) An increase in market power of time

(makeup increase).
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(a) Explain the difference between the participation

AN

rate and the unemployment rate.

(b) Explain life cycle hypothesis.
(3) wEwifiar ® 3R R R & q= R eTe e

(€) ha=aw aReed (life cycle hypothesis) @ SR
FHITgI

(a) Consider an economy with perfect capital mobility,

fixed price level, and flexible exchange rate.

Explain why monetary policy will be completely

effective and fiscal policy will be ineffective in

changing output.

(b) In the above scenario, explain how expansionary

monetary policy may lead to competitive

depreciation among the countries.
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(a) Distinguish between the following :
(1) Adjustable Peg.
(ii)) Crawling Peg.

(iii)) Managed Floating exchange rate system.

J

(b) Discuss the J-curve.

(c) Briefly explain how foreign exchange risks leads

to an opportunity of hedging and speculation.

P.T.0.
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(a) In a closed economy with AS and AD analysis
explain the short-run and long-run effects of

expansionary monetary policy on output.

(b) Suppose the utility function of a consumer is given
by

Inc;
- (1+ )
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A consumer wants to maximize ¢, subject to the

constraint

(1+1)' Z(1+r)‘

Given the above information derive

1+4+r
= (5 e

Hint: Use the method of Lagrange Multiplier.
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(a) Suppose that the Phillips curve is given by

n, — n¢ = —(u,—5%) and the expected inflation 1s

2 o
given by nf = =& _,

(i) What is the sacrifice ratio of the economy?

Suppose that unemployment is initially equal
to the natural rate and m = 12%. The

central bank decides that 12% inflation is
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too high and that starting in year t, it will
maintain the unemployment rate one
percentage point above the natural rate of
unemployment until the inflation rate is

decreased to 2%.

(11) Compute the rate of inflation for year t,

el 2,

(i1i)) For how many years must the central bank
keep the unemployment rate above the
natural rate of unemployment? Is the
implied sacrifice ratio consistent with your

answer to (i).

(iv) What advice should you give to a central

bank_if it wants to achieve the same results

quickly?

(b) Explain the difference between the criticism of

the traditional approach to disinflation given by

Lucas and Taylor.
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5 Write a short note on any three of the following :
(a) Neutrality of money.
(b) Expansionary fiscal policy.
(¢) Contractionary monetary policy.

(d) BoP deficit.

(e) Keynesian consumption function.
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1. (a) “Preferred public good level decreases as income
rises.” Explain this statement using political model

of public sector expenditure. (10)

(b) Consider two consumers with the following
demand functions for a public good ‘G’
P1 =10 - (1/5).G
P2 =20 - (1110).G,

where P i is the price that individual ‘i’ is willing
to pay for quantity ‘G’
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(i) What is the optimal level of public good if

the marginal cost is $25

(i1) Suppose the marginal cost of the public
good is $40. What is the optimal level?

(5)

(37) “3@ 9e W wdder qidwfAe st W U Gl 817
FadiaE 89 @ Ig D Toiide ASd & IUANT Fileh
T FYT F GRAT TR
(§) wEeAs woarg ‘Wt & foy fFeafafaa w @@t aw
3 ITHiEFaH W faur R
P1 = 10 — (1/5).G
P2 = 20 - (1/10).G,
SE P 98 &id 8 W @fe 00 wEr GY @ fog
WA & & dAR 2

(i) afle &g @nrd $25 2 A adwi-E Wols 6
T W O 8

(ii) ¥ oifoe for ardwifFes aeg @ @ara @E $40
21 ITH W FT BN?

P.T.O.
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) ' meral equilibrium model of provision of
2. (a) Explain general equilibriu p

public good when an economy produces mix of

: _ (
public and private goods (9)

(b) Explain free rider problem. How free rider problem

leads to inefficient outcome for the society.

(6)

(37) i &Y srfegaean A 3R Fon aega = fHsor
der Fxdl 8 O AduiHe Vel & WEU & @
g Aled sl ARAT <hifolg|

(4) Wi U3 GHEl H AV A W UK A A
T & fog JwwE 9o @ AR o o 2

3. (a) “In a competitive economy with complete
information & zero transaction cost, allocation of
resources will be efficient & invariant with
respect to legal rules of entitlement.” Explain this
statement given by Coase with reference to
complete information & bargaining. (6)

(b) Graduate student A smokes but his office mate
B hates smoking. A and B have the following
utility functions UA = 100 + 10z — 0.122 and
U® = 100 - 10z, where z is the number of cigarettes
smoked by A. Determine.
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(1) Number of cigarettes smoked by A when

the external effect on B is ignored.

(ii) Socially optimal level of cigarettes that

should be smoked by A.

(iii) Outcome of coasian bargaining when

property rights are assigned to A.

(iv) Outcome of coasian bargaining when

property right are assigned to B. (9)

(37) “udf TR 3N I A AT el el st

¥ dEel @ sEed Edl @ & e & dey
¥ Fwel IR sRad-a #rm” wigE g\ v e oEE
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IaF STF Y YA Gl 2 Afeh 3@ wdied
§ U A T6E F@ 2 A IR B F ffaiEd
Suaifimn we & UA = 100 + 10z — 0.1 3K
UB =100 — 10z, 5i&T z, A gR1 @ 13 fawet &1 &
21 fuia =0
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an individual is a saver i.e. her current

4. (a) Suppose
consumption is less than her wage income.

Government imposes a tax, at a rate t, on her
interest income. How her consumption in current

and next period would be affected with imposition
of this tax? Explain your answer using substitution
and income effects. Also, compare the effect of
tax on interest income with lump sum tax when

substitution effect is offset by income effect.
(10)

(b) Why governments around the world might impose
progressive taxes even when lump sum taxes can

be less distortionary? (5)
(37) AT Aifore R va wafeq sgaedl @ Al 38! aaAd
@I IGFT AR T ¥ FA 2| WHR Iah! AT
Wt W A H AN Bl I AW B W F IO AR
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5. (a) Explain how probability of detection and fine rate

affect individual’s decision to evade taxes. (8)

(b) “Free access to commons lead to their
overexploitation.” Explain this statement with the

help of diagram. (7)

(37) =a¢ for 989 &1 a1 R FEA @ o) fERar afed
& FX A ® HEA H DA FAIEAT w2

() “3m™ ARN 9% A9 98T d IFHT Alerh I8 Bl
21”7 38 FYT F IRE & G 4 FHEd |

6. (a) Why India felt the need to adopt Goods and
Services Tax (GST). Explain the features of GST
which was adopted by India in 2017. (9)

PLECY
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(b) How an increase in crude oil prices affect Indian

cconomy. Explain your answer. (6)

(31) wmaaa@gaamaﬁ(sﬂm)ma‘ﬁmmm
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EELSIERIN

(@) Eﬁéﬂﬂﬁaﬁﬂﬁﬂﬁﬂﬂ?ﬁqmaﬁﬁ
fad & 2l FYAT I T Fl

7. (a) Explain the rationale behind various recommendations
given by 15t Finance commission which was
chaired by Mr. NK Singh. How they are different

from 14" Finance commission recommendations.

(8)
(b) How according to Ayush Bajaj and Gaurav Dutt,

government can finance the fiscal deficit which
mounted during covid-19 to provide relief during

pandemic? (7)

(31) 153 fam s, fommah sremen it vas fe T @ 4@,
T & T A ek @ 98 & 99 & T &)
¥ 143 fam @ = e | fFa wer B 27

(@) Iy T 3R TRE T B AR, WEHR AEAL D
T e WO T @ U FfEE-19 & IR 9@
TSN O ) Y fAaasg & g 2|

(1000)
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I. Examine the notion that economic development
encompasses various dimensions beyond income and
its expansion, considering achievements in other areas
as well. In light of this perspective, analyse the
significance and limitations of the Human Development

Index (HDI) as an indicator of overall development.
(10,5)

T URT T GAH F fF e A A Im iR 9
fomar & R fAifter smam wite €, 99 3/ aFl § ITafeEl
f wifer 31 39 SRded @ v A, 990 fAem & deas
P ¥ A A AEE GRS (TISNE) & FE I A
& fagemor 1

How far do you agree that the fundamental tension

between participatory and procedural aspects of
democracy in India has been responsible for hindering
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the development process? Do you agree that
authoritarianism is neither necessary nor sufficient for

economic development? (10.,5)

AT 3G A9 A T8 qh G8Ad 2 [ WRA A Amad & agen
3R wfeharere Teealt @ A qFHard qera fagea wfdar # amen
T @ fog mer 237 o oo 3@ 9w & @ewa @ &
i faem & o siftmmaEar = @ smaws 2 i 7 &
o 27

(a) Describe the prediction of “neutrality” of growth
rates concerning per capita income in the Harrod-
Domar model. Explicitly state the assumptions

regarding the parameters of the model.

(b) Consider the Solow model with a production
function Y(t) = AK(t)*L(t)'"*, where Y(t) is the
output at time t, K(t) and L(t) are capital and
labour employed at time period t, A is a fixed
technological parameter and a is a positive constant
lying between 0 and 1. Explicitly solve for the
steady-state value of the per capita capital stock

and per capita income. (9,6)

P.T:0.
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(¥) AN e A IewEA HET Y (1) = AK(1)OL() ¢ W
faar &R, w1 Y(1) ¥t W Iare 2, K(t) 3R/ L)
T sty (R Fafee goh sk s #F, A v ffdee
Tl WEer ® 3R o TF 0 AR 1 & S g
TR feorie 21 wfa e oot w@ e sk ufa afem
I & Rer- srae w9 A W wW A B

| 4. Explain the implications for the growth process with
| human capital when an endogenous technological
progress 1s associated with —

(a) deliberate innovation fostered by the allocation of
resources to R&D activity.

(a) externalities generated through actions of individual

firm’s capital accumulation or R&D. (8,7)

W@%wwm%ﬁ%mﬁaﬁmaﬁ,m
Sfasiid da-ia W W B -

(37) smEu ve fasm wffaf & fog dEwe & srEeT
B FRU TSN AGER D A
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(@) wafemwra W & Ooft dua @ sEuE v e afafaf
& @A B Hemw A I ey oA

Discuss, using game theory models, how self-governing
institutions can be useful for regulating the use of
common property resources when neither the state
governance nor the market is uniformly successful in

sustaining them. (15)

A AR WA F ITENT HS §Y T ) o wEmE e
TR gut wEEe @ Suan @t e @ o @e
I7ERT B GFE B, 9E A O T59 WA AR 7 8GNk 3%
T W@ ¥ G € F 9% B

(a) Discuss the idea of poverty as capability
deprivation with suitable examples.

(b) What measurement problems do we face in

international comparison of GDP? (8,7)

(31) mm%mmm%mﬁnﬁa’r%
farR @ == wRI

(@) e e I A A T A B AT wd
e GRENAY W GWAT SA TS B 7

P.T.O.
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(a) Argue that the ethical principles used in
e

measurement of inequality are exactly Summari
j ‘ arized

in the concept of the Lorenz curve.

(b) Draw the Lorenz curves and calculate the Ginni
Coefficient for the following income distrihutionq'
The first set of numbers represents the varimijé
incomes, whereas the second set of numberlq
represents the number of people earning each O‘f

these incomes :
(1) (100, 200, 300, 400); (50, 25, 73, 25)
(11) (100, 200, 300, 400), (50, 35,555 35)

(6,9)

(3r) o= < T sEamar & WO ¥ ugad A R
ARS T @ AURUT ¥ GlE €9 o |afg S
2l

(F) @RS T% sAR R Feefefaa s famor & fow fish
AUIE i AT T G o e de fat= s
Fr FEAr 8, WElh G w1 TE ¥ T A WE
F@ A FT A ARl e H SE @

@) (100, 200, 300, 400); (50, 25, 75, 25)

(i) (100, 200, 300, 400), (50, 35, 55, 35)



5253

(a)

(h)

(d)

Write short notes on any two «

ol the following

(‘-’\z“

> v Q .\\
I'he concept of convergence, with its variants,

discussed in Solow Growth Model.

Income Gap Ratio (IGR) and Foster Greer

Thorbecke (FGT) measures of poverty.

Proximate causes for differences in incomes of

nations.

Suppose an agent needs several licenses and
permits to be obtained from several government
agencies. Show how private buyers may be better
off when there is a possibility of collusion between
the agencies compared to a situation where the

agencies act independently.

Freafeferm ¥ ¥ el @ ™ wfer feorh fofe -

(57) sfrawor &t sEuwon, sa@ fBfeT yeR @ e, s

for @l er steer ¥ wed A wE B

(@) TR A FE HR FFTE (AR IR Breew AR

AEF (THAIE) A FER

R.T.C)
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Section-1

Let r, and r, be the rate of returns for two securities
; = 0.03 and T, = 0.08 VAR(r,) = 0.02,
VAR(r,) = 0.05, and COV(r,,1,) = -.01l.

with T

(a) If an investor wants to minimize risk, how
much of his/her portfolio will he/she invest in

security 1? | (5)

(b) Find the mean and standard deviation of a
portfolio that is 50% in security 1 and the rest in

security 2. (5)

(c) Write a short note on Two-fund Theorem.

(3)

(a) Consider a portfolio which consists of n correlated
assets and each asset has constant mean rate of
~return T, variance o and COV(r, L) = 0.2c2.
Show that one cannot comblet_ely eliminate the
risk of the portfolio by increasing the number of

assets to a lafge extent (say o). (5)
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(b) Ritesh is planning to invest in ABC mutual fund
which invests 10% of its funds at the risk-free
rate of 7% and the remaining 90% in well
diversified portfolio which closely resembles the
market portfolio with an expected rate of return
equal to 15%. The B of this fund is 0.9. Using
CAPM, find out how much has Ritesh paid for
each share of the ABC mutual fund? (5)

(¢) Explain intuitively the concepts of Capital Market
Line and price of risk. How does an investor
assess the return of a portfolio using the concepts

of Capital Market Line? (5)

3. (a) What are systematic risk and non-systematic risk?

Suppose the expected rate of return of an IBM

stock (T ) i1s 25% and variance of the rate of

return (c.?) is 52%. Assume that the expected

rate of return of the market portfolic (T ) and its

standard deviation (o ) are 15%. and 20%

B.1.0.
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respectively. The risk-free rate (r) 18 5% per

ath non-
annum. Calculate the systematic and

8
systematic risk of the IBM stock. (8)

(b) Consider a portfolio which consists of one efficient

risk-free asset and one risky asset having a mean

return T and variance o?. Suppose an investor
invests a weight o of risky asset and (1-a) of
risk-free asset with 0 < a < 1. Derive the portfolio
diagram. What will happen with the portfolio
diagram if a > 1. Give intuitive explanation with

graphical illustration. (7

4, (a) What is modified duration? Find out the modified

duration of perpetuity. (5)

(b) Consider a 30-year 10% coupon bond (coupon paid
semi-annually) whose duration at par point (P=100)
is D=9.94. How much will the price of the bond
change if the bond yield changes from 10% to

11% and what will be the new bond price?

(5)
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(c) What is convexity of a bond? How does it differ
from duration of a bond? Among duration and
convexity, which measure of price sensitivity will
provide the better prediction of price change?

Explain. (5)

Section-II

# (a) Explain why a short hedger’s position improves
when the basis strengthens unexpectedly and

worsens when the basis weakens unexpectedly.

3)

(b) A company has a $20 million portfolio with a beta
of 1.2. It would like to use futures contracts on a

stock index to hedge its risk. The index futures

price is currently standing at 1080, and each
contract is for delivery of $250 times the index.
What is the hedge that minimizes risk? What

should the company do if it wants to reduce the

beta of the portfolio to 0.67 (8)

P.T.O.
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(¢) Explain carefully the meaning of (he .
. €rmg
convenience yield and cost of carry, Whyy i, th
v the
relationship between futures price, spot Pric
C\

convenience yield, and cost of carry? @)

6. (a) Suppose that the risk-free interest rate is 10% pe,
annum with continuous compounding and that the
dividend yield on a stock index is 4% per annum
The index is standing at 400, and the futures price
for a contract deliverable in four months is $405
What arbitrage opportunities doés this create?

(4)

l
(b) What is meant by a protective put? What position

in call options is equivalent to a protective put?

4)

(¢) Explain bull-spread using payoff diagram and table,
Apply put-call parity to relate the initial investment
for a bull spread created using calls to the

initial investment for a bull spread created using

puts. (7)
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7. (a) Give two reasons why the early exercise of an

American call option on a non-dividend paying stock
(3)

is not optimal.

(b) A 4-month European call option on a dividend-

ently selling for §5. The stock
price is $60, and a dividend

of $0.80 is expected in | month. The risk-free
urities.

per

paying stock is curr

price is $64, the strike

annum for all mat

interest rate 18 12%
ur?

What opportunitics are there for an arbitrage
(5)

rence between a strangle and a

rike price of $60 costs

d expiration

(c) What is the diffe
ddle? A call with a st
e same strike price an
able that shows the

stra
$6. A put with th
e costs $4. Construct a t
ddle. For what range of
a loss? (7)

dat

profit from a stra
s would the straddle lead to

stock
price

(a) Explain the no- _arbitrage and risk-neutral valuation

approaches to valuing a European option usmg a

e-step binomial tree. What is meant by the

&)

«delta” of a stock option?

PoE ),
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(b) A stock price is currently $80. It is knowp that
at the end of four months it will be either $75
or $85. The risk-free interest rate ig 5% per
annum with continuous compounding. What is
the value of a four-month European put option

with a strike price of $80? Use no-arbitrage

arguments.

(7)

(500)



[This question paper contains 24 printed pages.]

Your Roll No.....coous
Sr. No. of Question Paper : 568 G
Unique Paper Code : 2272102302
Name of the Paper : Intermediate Macroeconomics

I : Foundations of Aggregate
Income Determination

Name of the Course : B.A. (Hons) Economics

Semester ¢ IH

pDuration : 3 Hours Maximum Marks : 90

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.
2. This question paper is divided into three sections.
3. Use of simple calculator is allowed.

4. Answers maybe written either in English or Hindi; but

the same medium should be used throughout\ the paper.

ke O



568

1
Fregwien fefeg |

2. mmﬁ?ﬁaaﬁfﬁ'ﬁwﬁaéu

3 mm%aﬁﬁa%maﬁagﬁin

a mm—wmmdﬁmﬁaﬂ:ﬁwmim,aﬁﬁ
wmmmwamm.

SECTION A (@% &)

Question 1 is compulsory. (15%2=30)
gvr  dfad 21

{2 (i) Assume that the economy is closed (i.¢. nO

e is a decreasc in taxes.

import or export). Ther

What happens 10 intere
our Market?

st rate in Medium Run
due to the Lab
(a) Increase
(b) Decrease
(¢) Unchanged

(d) Indeterminate

p .‘bv
OIS
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(i) The permanent income of a consumer in

Friedman’s model of consumption is

(a) Present value of her income/interest rate
(b) Present value of her income X interest rate

(c) Interest rate/ Present value of her income

(d) None of the above
(iii) Which of the following event increases natural
rate of unemployment?
(a) Decrease in Government Spending
(b) Increase in Real Money Supply |

(c) Decrease in competition amongst firms

(d) Weakening of Labor Union

(iv) Assume that expected inflation follows m =7, ;.
What inflation level is consistent with the

government maintaining output below the natural

-

level?

(a) Positive Inflation

(b) Negative Inflation

(¢) Zero Inflation
B T.O.
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(d) All of the above

(v) Which of the following variables will Change in

the long run in response to a demand shock if
prices are able to adjust fully?

(a) Unemployment
(b) Output and unemployment
(c) Price level

(d) None of the above

(vi) The life cycle hypothesis implies that in a-growing
economy with increasing social security benefits
for old-age people may

(a) Increase gross private savings
(b) Reduce gross private savings
(c) Increase gross government savings

(d) Increase aggregate savings

(vii) What happens to the short-run Aggregate Supply
curve as the money wage rate rises?

(a) the short-run aggregate supply curve shifts
rightward.
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(b) the short-run aggregate supply curve shifts

leftward.

(¢) the long-run aggregate supply curve shifts

rightward.

(d) both the long-run aggregate supply curve
and the short-run aggregate supply curve
shift leftward.

(viii) According to the pipeline theory, inventory

investment is

(a) Countercyclical :
(b) Procyclical
(c) Both (a) and (b)

(d) Constant overtime

(ix) Which of the following best explains how an
economy could simultaneously experience high
inflation and high unemployment?

(a) The government increases spending without

increasing taxes.
(b) Inflationary expectations decline.

f(c) Women and teenagers stay out of the labor

force. :
PO,
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(d) Negative supply shocks cause factor prices
to increase.

(x) According to Friedman the covariance between

current consumption and transitory income is
(a) Greater than zero
(b) Less than zero
(¢) Equal to zero

(d) Equal to 1

(xi) The modified Phillips curve tells us that the only
way to reduce inflation is through

(a) unemployment rates higher than the natural
rate

(b) expansionary fiscal policy

(¢) unemployment rates lower than the natural
rate

(d) contractionary fiscal policy

(xii) The natural rate of unemployment depends on
all of the following except :

(a) The level of unemployment insurance

(b) The mark-up
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(¢) The bargaining power of workers with firms

(d) Money supply

(xi11) In terms of the Phillips Curve, wage indexation

results in

(a) a weaker/flatter relationship between

unemployment and changes in inflation.

(b) no effect on the relationship between

unemployment and changes in inflation.

(c) a stronger/steeper relationship between
unemployment and changes in inflation.

(d) an ambiguous effect that depends on the

mark-up of firms.

(xiv) The stagnation thesis formed around 1940 was

based on the ground that

(a) If the marginal propensity to consume
(MPC) < average propensity to consume
(APC) 1s accepted, then government
expenditure share to GDP (g/y) must be
increasing with GDP (y) to balance the

_drop in APC to maintain full-employment

demand.

r1.0.
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(b) If MPC < APC is accepted, then g/y must

be decreasing with y to balance the increase

in APC to maintain full employment

demand.

(c) If MPC > APC is accepted, then g/y must

be increasing with y to balance the drop in

APC to maintain full employment demand.

f MPC = APC is accepted, then g/y must

(d) I
be decreasing with y to balance the increase

in APC to maintain full-employment

demand.

Phillips curve, unemployment

(xv) According to the
will return to the natural rate when :

(a) Nominal wages are equal to expected
wages

(b) Real wages are back at long-run equilibrium

level

(c) Nominal wages arc growing faster than

inflation

(d) Inflation is higher than the growth of

nominal wages
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(a)g—gwﬁﬁm@ﬁﬁwa{&aﬁgfi’%am-q:g

SECTION B (@ @)

Attempt any 6 out of the following 8 questions.

Each question carries 5 marks. (6x5=30)
ﬁmﬁ%ﬂsmﬁfﬁ%ﬁ#’fanﬁmmﬂﬁq.
wE ye & 5 A B
2. (a) Describe the concept of NAIRU. What are itg

. determinants?

(b) Can NAIRU change with time and across

countries? (2+3)

(%) TARHAEHG W FTUROT T g0 S| 38 A

a R B7

_(ia) T TAYASIARYG 94 ﬁtﬁ%mmm%?

3. (a) The Phillips curve is n, = & + (p+2z) — au,
Rewrite this relation as a relation between the
deviation of the unemployment rate from the

natural rate, inflation, and expected inflation.
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(b) Online job websites are getting popular amongst
job-seekers and enable them to connect with
employers easily. What impact should this have

on the natural rate of unemployment in an

economy? (3+2)

(%) foform aF n, = n° + (n+2) — au, 3@ GEI H
YR R, AFEhI AR Ifea Jeedhifa ¥ SRenmd =
% Raew & 99 @y @ = F fiw ¥ fofaw

(@) AT AR IqEEe AR BN G B G Ay
B @ T IR IR s @ W s A e A
T T 21 FdEen ¥ AW F SUR W W
TEHT T YW BT ARG ?

Determine the price-earnings ratio for a stock using
the arbitrage argument for financial investment. Can

this measure be used to detect bubbles in the stock
market? (5)

mimmwmﬁ*m&mmmiv
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5 “Disinflation typically leads to a period of higher
unemployment.” Explain. What is the basis of Lucas’
assertion that the unemployment costs of disinflation
can be reduced significantly? Do you expect faster

disinflations to be associated with lower sacrifice

ratios? ()

« sy I AR W o AN R A AR A Iy
217w FI gEE B T W FuR T 2 s
#Ft R AW F FHA HA HAT W AHA B F W
IFe F@ ¢ AF a9 | 3O ¥ 99 e ?

(a) Compute the real interest rate using the exact
formula and the approximation formula for i1 = 4%;
n® = 2%.

(b) Explain possible reasons for the firms to pay higher

than market-clearing wages. (2+3)

(F) ¥8F g3 IR FT qF H I Fd FUR =
T F A FR i = 4%; 7= 2%.

(@) wA F AAR - TN AL A AF WA T B
Tfad FRON w W FHHfow)
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Following the intertemporal optimising model of
consumption, derive the intertemporal consumption
relation with the interest rate (r) and future-utility
discounting factor (8). Provide a graph along with the
economic reasoning behind the typical consumption
path to be obtained for different relative magnitudes
of r and d. (3+2)

A B IR AT Aee F el hd §Y, T
= (1) 3R WA -I@AMNT FE FREF (5) D TH AR
AT gaU W Fiwl r 3R 6 @ fafter aney aiwn &
g W g o= Ao ffiee It Ty @ 9D sfdE a9

%mwi@ﬁamaﬁml

Discuss an alternative theory of consumption that
modifies the intertemporal budget constraint used in
the intertemporal optimising models of consumption.
Flow does this alternative theory modify the
consumption path proposed in Ando-Modigliani’s model

of consumption (i.e., Life Cycle Hypothesis)? (5)

IUNR B UF Afeqs f@id W wel #IRT W @ug @
v Siftearaoi e ¥ I e W TR e
AT A I AT F B qE Aerforar i O3 - AR
F I B Aiew (@, e o Reewn) ¥ wetaa
TR 99 H DA G wwar 27

PT.O,
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0 Fiscal policy as well as Monetary policy cannot change
the level of output in the medium run. Why is then
monetary policy considered neutral but not fiscal

policy? )

aearia 93 2 9w-9y WiRE Hif que e ¥ I
2 =% 3 I8 e gFa 21 @ fov ARs A F®; wCTH
a0 W WA ¢ AfET gasng A o T8 7

SECTION C (@E )

Attempt any 3 out of the following 4 questions.

Each question carries 10 marks. (3x10=30)
fafafian 4 vt ¥ 3 =8 3 WA & I AR
vaF W @ e 10 3F 2

10. In a faraway country, the total population is 5000
people (all of them non-institutional civilian people),
3000 are working and 250 are looking for a job.

(a) What is the size of the labour force? What are
the participation rate and unemployment rate?

3)

( b) In this economy, the labour productivity is 1. And
the wage-setting process is c'iesc‘_ribe'd by
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Z-100u, Where Z 18 the unemployment
P

insurance provided by the government and u is
the unemployment rate. What is the Price Setting
equation for a mark-up level p .57 Show

graphically and mathematically. (2+1)

(¢) What is the natural unemployment rate (show it
graphically as well), natural level of employment

and natural level of output if Z = 57 (2+1+1)

vH W W A, A FWA 5000 @t FO(IAN ¥ @d
- Femre ARRE ), 3000 W W @ ¥ A 250 AHY
F Foms A By

(F) »m wfda & @R 87 Wellel & 3k R
o w7

(@) 3@ Fd=ae A, 59 Jearedndr | B WW@-W

ufaar &1 aofT fakar @ 8) P—\Y=Z—100u, T Z

WER BN Yo faar S aren SR den # SR |
W R 81 T4 gfe TR op = 1.5 & e 5=
fAiieor @ @/ 27 W@E 3R A w1 @ eiv)

00 M 8
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(W) meR AWSTA W Aw B (A Yafam B ww oA A

TR, AT A e W AW JeqwaA w7 v af
Z=5 87

I1. How does Lucas’s supply relation describe the

possibility of the output in any economy to deviate
from its full capacity level? What characteristic(s) of
the rational expectation is (are) are required to prove
the policy effective proposition. Using the model
proposed by Sargent and Wallace (1976), explain
the possibility of ineffectiveness of expansionary

monetary policy to increase output from its full capacity

level. (2+2+6)

I T S Gy B o srderae ¥ e S AvE
F FT Qi g =) A afm @ & awEE @ v
A e 27 A R wEE A RE w3 e a@a
Fen & - faRwan #) anic Ak 9o (1976) 20 wEEE
WSS H ITANT FA §Y, AT T SHA TR/ 4 IedeA qeH
& fov fomrad At ST &t swwdEr Fit g #
maﬁﬁﬂl
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13-

Explai iabi
f plain the short-run variability and long-run constancy
of the rati
a: atio of consumer expenditure to income with
e : Bk
evel of income, in light of the Permanent Income

Hypothesis of consumption postulated by Friedman.
(10)

mﬂ#mqﬁmﬁamaﬁw@mm%m
ﬁm%w%maﬂaﬁrmaﬂtw%@maﬁ
mmqﬁam@zammmﬁmm|

e in X-Y city can be rented for

Suppose a hous
t the rate

Rs. 30,000 monthly. The house depreciates a
of 5§ percent per year, the annual interest is 10 perc

ortgage interest is tax deductible, where the
the arbitrage

ent,

and m

relevant tax rate is 30 percent. Following

argument in residential investment,

e, in case

e the change in the house-pric
from 25

ction in the downpayment rat®
ent, given the expected annual growth
-price 1s at 8 percent. What do

housing price

(a) Determin

of a redu

to 15 perc

rate of the house

you infer regarding the cause of the

bubble from this change 1n house-price.

(4+1)

p.T.O.
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(b) Determine the change in the house-price, in case
of an increase in the expected annual growth rate
of the house-price from 8 to 10 percent, given
downpayment rate is at 25 percent. What do you
infer regarding the cause of housing price bubble

from this change in house-price. (4+1)

T e fF X-Y T8 A 7F W 30,000 T W& A fEhag
wﬁmmm?ummuﬁa&smaﬁaﬂw

gar 8, aiffe st 10 wRAwd 7, 3R suE S & werdl
arg g, mmwasomé.mma

sfdcsr 9@ & 9w,

(%) mwaﬁzsﬁlsmaﬁﬂ%m‘@f
i Waﬂaﬁmﬁqﬁaé#mﬁuﬁvrﬁfmug

ﬁm%m%aﬁ%mwwﬁméu
(=) e ot e Y S A P T AL
R @ g @ A s o e A AR
- i, A, i A WA X 2591?‘33
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360 5 ;
0. The tastes and preferences are the same for
both economies and are given by the relative demand
curve : X/Y = i is i i

1Y P /P . Given this information, answer

the following questions :

(a) Derive the production possibility frontier of both

economies.

(b) Which country has a comparative advantage in

the production of Good X?

(c) Sketch the relative demand and relative supply

curves with a neatly labelled diagram.

(d) Discuss the nature of specialization. (15)

2. Answer the following questions :

(a) Consider two countries: A and B. The real wage

rate in Country A is higher than the real wage

rate in Country B. How would real wages be

r is perfectly mobile between the

(7)

affected if labou

two countries?
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(b) Consider two countries, 1 and 2, producing two
goods, A and B. Country 1 exports Good A, while

Country 2 exports Good B. Using a Standard

Trade Model, assess the consequences of an
export-biased growth in Country 1. Would this
strategy end up favouring Country 2?7 Illustrate

your answer using a suitable diagram in the RD-

(8)

RS framework.

Answer the following questions :

(a) Consider a standard Heckscher-Ohlin (HO) Model,
where two countries, Home and Foreign, produce
two goods, cheese and wine, using labour (L) and
capital (K). Home is relatively labour-abundant,
and Foreign is relatively capital-abundant. Assume

that wine is relatively capital-intensive and cheese
is relatively labour-intensive.

(i) Discuss the pattern of trade between the

two countries. (5)
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(1) Under what condition(s) factor price
equalization may be obtained? Discuss with
the help of a diagram showing a segment

of equalization. (5)

(b) Write a short note on the Leontief Paradox.

(5)
4. Answer the following questions : (9+6)

(a) There 1s a significant agglomeration of various
service industries in Gurgaon (Gurugram), India.

How do you account for the same?

(b) Write short notes on any two of the following :

(i) Gravity Model as an explanation for

trade
(ii) Rationale for Horizontal FDI

(ii1) Learning Curves
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Answer the following questions (8+7)

(a) Consider two countries: Techland and Agriland.

The firm in Country Techland finds it profitable to

offshore less-skilled activities abroad to Country
Agriland. What will happen to the relative wages
of the skilled labour in both the countries? Explain

with the help of diagram(s).

(b) Consider two firms, 1 and 2, operating in a
monopolistic competitive market. The cost
functions of the firms are : TC, = 20+ 20Q and
TC, =80+ 80Q, respectively. Would it be rational
for both firms to compete in the world market,
given the market demand curve of Q = 100 - P,
and they have to bear a trade cost of $30 per

unit? Explain with the help of a diagram.

6. Consider a small open economy trading in the world
market of laptops at the world price of $70. The
demand and supply conditions of laptops within the

country are as follows: Q, =90 -0.5P; Q =30+ 0.5P.
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(a) Given this information, identify whether this country

IS an importer or exporter of laptops.

(b) Calculate the number of laptops that this country

will be trading.

(¢) Suppose the government gives an export subsidy
of $10 per unit. Calculate the losses due to the

production and consumption distortions.

(d) If the government gives a production subsidy of
$10 per unit instead of an export subsidy. Will

there be any change in the production and

consumption distortion losses?

(e) Draw a suitable diagram to illustrate and answer

as to which subsidy is better: export subsidy or

production subsidy. (15)

Answer the following questions : (9+6)

(a) Discuss the actions that can be taken by the
consumers, unions, and firms of respective

countries to improve the labour standards while

trading in international markets.
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.

7

nd i 8 NEW entrant in the world market for

Call

cmartphones It is planning to launch its new

«martphone in the international market. However,
it has a threat that Ringland (which is an
incumbent) might launch a similar smartphone and
capture the international market. The following
matrix shows the payoffs of the two countries
on launching the smartphone. What is the
amount of subsidy that Calland should give to its
producers to deter the entry of Ringland into the

international market? Is this subsidy justifiable,

given that Ringland is incumbent in the market?

Discuss.

Country Calland

Launch Do not

launch

Country Ringland | Launch (-10,-10) | (150,0)

Do not launch | (0,150) (0,0)

P.7T.0.
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8 Answer the following questions . (54545
'

(a) Consider two countries, A and B, prn(lucing
two goods, rice and wheat, under the pcrfcctl);
competitive market structure. Under free trade
Country A offers rice in exchange for wheat fron;
Country B. Illustrate this scenario using the offer
curves diagram, assuming well-behaved offer

curves for the two countries.

(b) “Trade policies aimed at promoting economic
development often lead to rates of effective

protection much higher than the tariff rates

themselves.” Discuss.

(c) Write a short note on optimum tariff,

(500)



[This question paper contains § printed pages. |

Your Roll Noo.
Sr. No. of Question Paper: 366 G
Unique Paper Code : 2272201101
Name of the Paper . INTRODUCTORY
MICROECONOMICS
Name of the Course . BACHELOR OF ARTS
(PROGRAMME) WITH
ECONOMICS
Semester o1
Duration : 3 Hours Maximum Marks : 90

Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt

of this question paper.
2. Answer any five Questions.
3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;

but the same medium should be used throughout the

paper.

P.T.0.




366 2

oE @ fog fBew

L e-va @ R @ oW Ry e R e g
S RCRICTRICCI

o =S uter wwAl & IR QR |
3 o TS 3 9 R

4, W WET- T IR N a1 B R wer v F SR, Sk
¥ ITR 1 AN U & B TR |

1. Explain how absolute cost advantage and comparative

cost advantage differ from each other? (10,10)

Calculate gains from trade from the following data

relating to two countries producing two goods:

Table: Production of Food and Cloth by country A

and country B
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~ ] CountryA [CountryB_
_f_oﬂqq_& : 75 100
Cloth 100 120

m%rﬁmmaﬂtmwmﬁw@?%
a9 v 27
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GIG| 75 100
E2El 100 120

P.T.O.
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Use production possibility curve to explain the concept

of opporfunity cost and show Increasing, decreasing

and constant opportunity cost respectively.

Solve the problem of What and how to produce by

using production possibility curve? (10,10)

e T )l FEURIT A G @ folg IS W
% =7 I ¢ 3R wEm Fed, Hed AR PR FE

I fe@g)

S T T ST B IR DY I

F GHET T G R 7

Do you think Economists' approach to establishing
linkage between individuals and society is more

appealing than thinkers from other domains?

Elaborate. (20)
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T TR A R B o 3l e B A wE el
F & o sefmfeay @ gRemior arr 8 & Frameri
qo X s smedeEs 27 far ¥ aaem

4.  Give the difference between price elasticity and income
elasticity of demand? Discuss factors influencing price

elasticity of demand ? (8, 12)

[T E BT A 3R I A D A FHaK qag ¢ HT
= AT B U F A wRe WO

Derive market demand curve and market supply for a

normal good? Explain the factors which influence the

market demand and market supply of the good?
(10 10)
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0.

Given the following information answer the questions

given below:
Quantity demanded = 200 - P
Quantity supplied = 20 + P

(i) Calculate Consumer Surplus and Producer Surplus

(ii) Change in Consumer Surplus and Producer Surplus

at a Price fixed at 60 (10, 10)

frefied WHER @ @d §¢ AN Ry T W & ST
I

AT F T WA = 200 — P

g & TS A = 20 + P

(i) Il e IR IEs @Y & AT W

(i) @ w60 W ITNie RT3 SaEs SRy
A aftgder



, T
‘;f;f%
& : sttt '.'-"?' At fAY By "”{ ¥
¥ W - .1{_ { " ITACH AN gyvoe "
'1-'1"- '?t*H.v\r.
mde off the ATadtient 3
f‘.f'r‘-f'h{" ettty af demiand and it
CHAW W 144 1 : :
how elfare 1644 of 4 tax imiponed
' L mnn
1

! vt‘.l"?i?"
(10, 10y

sn“f"r‘ 7

ﬁﬁﬁmmmzmmm.ﬁtmﬁﬁ#m%

el
e A PR AT W AMG M T A vy

j_r
i': == ?’..HIiQU 7

writc short notes on any two: (10,10)

Q) Tragedy of Commons
(i) Multi-dimensional Poverty Index

(iii) Laffer Curve

(iv) Central Problems of an Economy
fdl & W wfera fRwfiel e

(i) om o o AwE
P.T.O.




366 8
(i) g A T

(iii) w9 T

(iv) seforen &t Hdld THET

(1500)
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o @ g Adw

L T ye-TE @ fien @ ew Ry Fiite T WA
SRCRIERTICIE
2. &l U WAl & IR AR |

3 TRuA S arch‘mﬁ%l

4. - T VI~ U T IR S a1 Bl Frd ven s % g, AfdeT
TN I H AW UF & B AR |

1. (a) What do you und_er_s_tand'by the produption
| ~ possibility frontier? How is the péint below
and above the product.ion posSibility fronﬁer
different from the points on the frlont'_ier'

curve?

(b) Differentiate between efficiency and equity? Why
do policy makers often face trade-off between

efficiency and equity?

(¢) Differentiate between Positive and normative

economics. | ' ' (6,6,6)
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(m)w@m@m%mwmﬁ%?m

e A & AR 3R IR g A @ D R
3 D v R0

() e st g A g 27 A P

>

mﬁtgﬁﬂﬂ%ﬁﬂﬁwﬂﬁf@ﬁﬁmwﬂ

T T 27

() TR S P e @ A R T Flfor|

2. (a) Explain the price elasticity of demand? Also

explain the Factors which influence the price

~ elasticity of demand?

Point Price - Quantity
A 7 | 100

B 6 200

B 5 250

D 4 500

E 3 650

F 2 750

G [ 800

P.T.0!



887 4

(b) From the above given market demand schedyle
calculate the price clasticity of demand from poip¢
C to F, from F to C and midway between C apg

E? (12,6)

(F) = = < AT F e ww qw S A
A INRT T T FREA A W T RRw?

A 9 ‘ 100
B 6 200
C | '5_ | 250 -
D | 4 | 500
E 3 - 650
F 2. 750
G 1 800

(@) wﬁqu'm SN ARG CIF, FR
C 3R C 3t F & dfer & wir a0 e Qe 59t Somy
HA 7 | '



887 D

3. (a)In a demand-supply diagram explain Why
cquilibrium quantity in competitive market is

efficient in ferms of social welfare?
(b) Given following demand and supply curves :
Q, = 500 - 5p; Qs = 5p + 100.

A tax of Rs. 10 per unit bought is imposed on

buyers. Find the following :
(i) price paid by the buyer
| (i) price received by the seller

(iii) quantity traded (12,6)

() wnr-angfd avE ¥ wee Afe & R aer §
A A A Hedr &l gt & HuW @l 8 7

(@) fawfafaa @ st smqfd o oy T #:

Q, = 500 ~ 5p; Qs = 5p + 100,

B.T.Q,
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el R g 10 W

ffoiaa @ R
(i) P ER A T D
(ii) foeber SR W IR
(ii) o W T A
4. (a) Consider the following action by the go_vernment

and its impact on economy :

(i) If a minimum price is set above the

equilibrium price

(i) If a maximum price is set below the

equilibrium price

(b) Suppose in year 2023 due to good monsoon the
production of rice has increased as compared to
year 2022, Answer the following in this situation

with an appropriate diagram :
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(i) What will be the equilibrium quantity and

price in rice market in 2023 compared to

20227

(i1) Given that inelastic demand of rice what
will be the impact of increase production

on farmers income? (12,6)

(F) TER g T FfeRad Farg R FhEEEd |
ﬁ%mawﬁana?rﬁm:

(i) R W 7w dqe qed ¥ e iR
ST 3 '

(i) aft Ffeew qed wged A @ A FeiRa
feman S 2

(ﬁ)m?ﬂﬁ?ﬁ?aﬁmzaﬁaﬁ}m@%m
aﬁzozzaﬁga#rﬁww:mm@%xg«
feaft ¥ s S S & PR I
. o

@ rToO.



887 8
(i) 2022 @t gern A 2023 ¥ AEAA AAR A FoA
A 3R A R BN 7

(i) @5 ¥ gy fn e @ AR WA F
frart @ s w Iewew A g w1 FAT THE

g3 ?

5. (a) On what factors does the incidence of tax between
buyers and sellers depends upon explain with

diagram?

(b) Explam with diagram how an 1ncrease in price

affects the total revenue when prlce elastlclty of

demand is
(1) greater than 1
(i1) less than 1

(iii) equal to I L a2
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() 3 30 0 < S Pt 3 41 arter 7 e

5 95 ¥ 9 g o 71 2% oo
\ |

(i)i%aﬁm
(i) 13 =
(i) 1 & =

(a) In trade if a country-impose tariff on.import what
would be the impact on consumer and producer
surplus, government revenue and total surplus

explain with diagram?

(b) If a country export goods in intgrnational market
explain through diagram the loss and gain of the

country?

P.T.O.
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10

(¢) Explain the absolute and comparative advantage

in trade with an appropriate example?
(6,6,6)

(m)wﬁaﬁaﬁé%&rmm?ﬁfﬁmgﬁf
wﬁwaﬁ?ma&ﬁﬂ,mwaﬁ?@
AP W) @ W G

(@) afe =g W M@mﬁa@ﬁmﬁaﬁm
3 @ s @ W A 2 R wFr S T R T

i ?

(a1) =R # Tl ﬁtmmaﬁwmﬁm
& &g T S ? | b - |

What do you mean by externalities? Is it true that
private allocation is over-provides in the presence of

negative externality and under-provides in the presence

of positive externality? Explain. - (6,12)




(a) Explain market failure? What e

sources of market failure? (4)

(b) Each of the residents of a small town/likes

fireworks and placés alx}a'lue of Rs. 1000 oﬁ the
experience of a fireworks show in Exhibition
grounds of the to_wn: On its founding day
celebrations. The fireworks show would cost Rs 6‘
Lakhs. Is it efficient for them to have the fireworks

show? If Mr. X does not give any money in a

voluntary contribution scheme, what term could

m? Can a private firm supply

(8)

we use to describe hi

the fireworks display on founding day?

P.T:O.
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(c) What are strategic games? Explain with an

example. (6)

(F) woR A Rwsar o @ Hife? awr @ &wa &
A= ua @ 87 |

(@) vF R R D Fakal ¥ ¥ wEw afRwEst e

A 2 I TR F TEEA Ko ¥ i @ F

W 1000 T T @Y oWl 81 YA TG oad gARE

| W N W W AR 6 WR TR eRM @

e S fore o 27 AR A X e

e A ¥ A 23, 9

ﬁ%mﬁﬁmmmwmﬁ?ww |

ﬁﬁﬁwﬁwwﬁaﬁmmﬁmﬁﬁmaﬁmﬁm
i 27 L

(1) TFifter @ A 7 TR I BN W R

(2000)
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o @ e fade

1

-3 @ fed & W Ry g fAuifta =07 7 A
FgFas fafae

T W - UF &1 I Sen A B i v v # Aforg, A
T IT & AW v § A Wik |

FH 3 @ ¥ AR wft @ fEg ¥

T 7 R WRY & I UE 919 Rar s Wik |

HERY HAHA & IJTAT S JFAfS 2 |

PwD fafRs ws= fast PwD S1E 211 7a e 9= 9t faweg
g

Section A (WE &)

Attempt any Four (10x4=40)
&= AR g3l &1 IR Sl |

(a) For the following function
f(x) = In(4 — x?)
(1) Find the Domain

(ii) Find the Asymptotes



(b) Given g(2) = -4 and g'(x) = (XZ +5) for all x.

use linear approximation to estimate g(2.05).
(5+5)

(w) F=fafaas vaa @ o
f(x) = In(4 - x?)
(i) 3T T N
(i) *HATEE @ A How |

(@) Rar ™ g(2) = 4 IR g'(x) = (x2+5) o x
& foro s m & forg Wasw s @1 @

e g(2.05) |
2. (a) Find the limit
lim l:x ln(l—il:l
X—>00 3x

Is the function continuous everywhere?

P



3.

|

X | for x <2
(b) Let 1T(x)

;\ +3 for x22

Find the inverse of f.

("‘7) ﬁmmuﬁm:

him {x ln(l - l):‘
X —>»a0 3x

T oA B o RdER ®7

3
-1 fc 2
(®) Let f(x):{x ko

x2+3 for x>2

f =1 yiaam A9 S |

(a) Check the convergence of the following :

—k )
: 0 p :
bl 1+— P>0
D 2o ( 100)

(5+5)
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(b) Solve the following Inequality

(5+5)
(w) RefofeE @ s @ s @i

-k
(1) Zk =0 ( 100) P>0

o for ()

(@) f=fofaa safeE =t ga Fifoe :

< |-
\%
[a—

< |
+

(a) Let A = (x: xeR, |x] <1} and B = {x: x € R,
|x —1| > 1} where R is real numbers, If A U B
= R — D, then find set D.

P.-T.©,
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(b) Draw the graph of f(x) = In|x — 2| from the grapl
of fi(x) In|x|

*For PWD-

(b) For the following function, compute the derivative

and the derivative of the inverse function :

f(x) = ex*! (5+5)

(¥) WA =(x:xeR, x| <1} B = {x: xR,
ke

> 1} W8t R awafas e 8, aR A U B =
R - D, @D s\ ifsre )

(|) f(x) = Injx| W@RE A f(x) = Injx - 2| =1 TEf=
EE i

i & frg -
(&) ﬁwﬁﬁaaw%%q,ww%‘waﬂt
G~ H IAUET HIT

f(x) = ex*!
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(a) (1) If x 1s restricted by the condition 0 < x < 2,

Find the range that y can take, given

y =(x - 1)

(i1) Show that f(x) = 20x — e ** has exactly one

real root.

(b) (i) Show that if F! exists then it is unique.
(ii) Discuss the continuity of [x| + [x — 1| in the

interval [—1,2] Ot3)

(%) (i) alR x ® 0 < x <2 ot fofd & wiafew far s
2, A& W ¥ A AeE oy o w2

yi= X = 1)
(ii) Show that &dte &0 ¥ areafass @ 8 @ f(x) =
20x — e @ TWY |
(@) () 3R F-l Sufeafy 2, @ 48 IFOT @ ¥ il
i) [-1,2] ® Sawe A [x| + [x - 1| F BT R
aaf.a‘ﬁﬁm

P.T.O.



591 8

6. (a) Solve for x

[In(x + ¢)]® - [In(x +¢)?]> = In(x +¢) — 4

(b) Suppose we know that f(x) is continuous and
differentiable on the interval [-3,4], that f(-3) = 7
and that f'( x) € —17. What is the largest possible
value for f(4)? (5+5)

(37) A ®IW x

[In(x +e)]? — [In(x +€)?]2 = In(x +¢) — 4

(|) w= i & a0 99 & & f(x) dFaaa [-3,4],
W A 3k B 2, & f(-3) = 7 IR a®
fi( x) <—17 21 f(4) &1 Q@ a1 GG AF F 27

Section B (@WT @)
Attempt any Three (10%x3=30)

fardf R 77 IR Ao |

7. (a) Does f have a local maxima/minima? Is it global?
Is f differentiable at 0. Identify the cusp

| f(x)=x§(2x+5)'
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(b) Show that Ax = e* has 2 solutions when e < A < o,

(5+5)

() = { ® W wg IRawe ik At 27 = a7
Waw 87 f 0 W oyt 21 I & ggae

f(x)=x3(2x+5)

(@) @ e<A<o B@ B R Ax = DA AT W@
T
8. (a) Find Elasticity of y with respect to x when f is
given by
xy> + 3x* =2

(b) For what values of the numbers a and B does thé
function

f(x) = axePx

have the maximum value f(2)=1. (5+5)

(F) x & @ ¥ y &t A9 7d Ao 79 34 e 3@
Rar s 2 "%

Xy’ + 3x> =2

BET.O. -
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10

(@) o s [ dend 2 = ® RBe wew ¥

fix) = axe ¥

sfrwas i 2 A(2) = 1.

(a) Let a and B be positive constants. Find

-B
i o
o 1 (l+x )

x—0* X

(b) It 1s estimated that t years from now the population

of a certain town will be

F{e) =40 — —° Friilion.
t+2

Use differentials to estimate the amount by which

population will increase during the next 6 months.
(5+5)

(%) o i B o e B oo R #1 A R

f&

B
g 1-(1+x°‘)

x—0" X
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(@) a® FF9F S oy R @ A 9 aw v Aftaa
mEY W FEEEn B

F(t) = 40 - _8 :
t+2

I AN W oI o @ e fANew @ gwE
e e a7 wden ¥ afa O s 6 W@

10. (a) Show that the tangent to the curve y = x> at any
point meets the curve again at point z where the

slope is four times the slope at (c, c?).

(b) If f and g are continuous functions in [a, b] such
that f(a) > g(a) and f(b) < g(b). Prove the existence

of ¢ within (a, b) such that f(c) = g(c).
; (5+5)

(F) =9¢ & 7% y = x} & @ @ ¢ g z w

% 4 fiw & Mot 2 S8 yaue (c, o) W wEvE

T/ A 2

‘ . 1.0
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(ﬁ) afe f 3k g [a, h],iﬁfﬂ?m‘?iﬁaﬁ? f(a) >
g(a) 3R f(b) < g(b), (a, b) & WE ¢ & Jfta=
F =@ yan e ar & f(c) = &) !

Section C (@g )

Attempt any Two (10%2=20)
=  F71 IR Ao |

11. (a) Find the third degree taylor formula for In(1 + x)
at 0. Use this to approximate In(1.1). Estimate the

upper bound to the error R,(x).

(b) Show that the function f(x) = x|x| has an inflection

point at (0,0) but f”(0) does not exist. Draw the

graph. : (5+5)

*For PWD-

(b) Use linear approximation to estimate the value of

the given quantity

(33)(1/5)
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() 0 9 In(1 4 x)a}ﬁqa@ﬁﬂ%ﬁzvmm|
THHE IWNT In(1.1) qf R, (x) B Fre Fu@ @ @
FITH TR @ faw A

(|) WY & we f(x) = x|x| (0,0) W v ufad= fig
? AT (0) Mo @ 2 e w=w©

R @ Y -

(@) & T W D W W A W @ fog Waw
g~ &1 IwanT Hifoe

(33)(1/5)

12. For the following function (10)

3
f XN m—
() x4—x2+1

Determine :

- (a) The intervals for which the function is increasing/

decreasing.

(b) Find the points of local maxima and minima.

(c) Find the global maxima and minima.

L]

PILS.
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fRuiRa s :

(%) ¥ simaw e fg wow @g @ B /9C @ 2
(@) =g Shaw sk Rfae & fig s FIfm
(1) s IRaw FIK P & gar TG

13. (a) The population of a country grows according to

the following function of time, t;

a

Bit) =
() b+e™

(i) Find dP/dt when t=0. |

(i) Find the proportional rate of growth of the

population.

(i11)) Show that the population has a limiting value

and find its value.
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(1v) At what time is the population rising most

rapidly.
(b) The initial value of a rare diamond is given as

F(t)=25000(1.75)""

If the rate of interest is compounded continuously
and 1s 7%, how long should the painting be held?
(5+5)

(F) & 2 o ToheEn vy @ Fefafad wad & 3ER
Tl B,

Bit)= a

b+e™

(i) t=0 8 W dP/dt s q oAl
(i) SoE & gfe &t Fues X A7F FHid

(iii) TR & SaeEm &1 v& Q| a9 2 AR 89
AH TE Fig

(iv) e 99a s=Ee 998 oW & 9 @ B

PIE.O,
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(@) v 3w R &y ge w

F(t) = 25000(1.75)""

af? s @ @ AER G B 2 A 7% 2, A
A A e w9 wF @@ T Aqee’

(4000)
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ol @& fog Fdw

L T WEE-uE @ e ® sw Ry v Freifa e WS
SLCRIENEICI
2. T Ul WA & IR S |

3 Wi BTEHWFT%\i

4. T UET-TF IR Hon a1 RS R v e 7 Afvrg, At
Tl ITR M AW b € BT TR |

1. (a) What do you understand by the production
possibility frontier? How is the point below
and above the production 'po_ssibii'i_ty frontier
different from 'l;'hc points on fhe frontier

curve?

(b) Differentiate between efficiency and equity? Why

do policy makers often face trade-off between

efficiency and equity?

(c) Differentiate between Positive and normative

economics. (6,6,6)
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W

(@) Iemed aEl M A I wn wER B0 I

a3 FwR iy i T ® g
J B = 87

(@) e 3R SREA @ A @ s B 7 A FfaA
ot 3 2R & du Rt Rafdl @ weEn w4

Al gl 87

() TFREF 3R are sriaeT & d 3t T il

2. (a) Explain the price elasticity of demand? Also
explain the Factors which influence the price

elasticity of demand?

Point Price | Quantity
A 7 100
B 6 200
C 5 250
D 4 500
E 3 650
F 2 750
G I 800

P.T.O.
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(b) From the above given market demand schedule
calculate the price elasticity of demand from point
C to F, from F to C and midway between C and

E? (12,6)

(F) W AN B AT F e DG w0 A AT A
H INIET FH a wRH F W T Hfe?

iz P e
A 7| 100
N 6 | 200
C 5 L 250
D 4 00
E 3 650
F |2 750
G 1 | 800

(@ )wﬁquwaa@'&ﬁgcﬁlﬁ F

C 3R C 3k lﬂ%ﬁﬂﬁmaﬁaﬁﬂa@ﬂaﬁm
R 7
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3. (a)In a demand-supply diagram explain Why
cquilibrium quantity in competitive market is

efficient in terms of social welfare?

(b) Given following demand and supply curves :
Q, = 500 - 5p; Qs = 5p + 100.

A tax of Rs. 10 peqr unit bought is imposed on

bhyers. Find the following :
(i) price paid by the buyer
(ii) pricg received by.the seller
(i) qﬁanti_ty traded o o . (12,6)
() - aﬁiaﬁmtaaﬁﬁiv%mwi
e O g ¥ e w37
() Pt i e g o

Q, = 500 - 5p; Qs = 5p + 100,

B.T.0;
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@leRl w ufy gfic 10 T@ W BT T T 3
fR=foRaa s AR

(i) war g & T w0
(i) famar @ W e
(iii) oFeT & AL AT
4. (a) Consider the following action by the government

and its impact on economy: -

(i) If a minimum price is set above the

equilibrium price

(i) If a maximum price is set below the

equilibrium price

(b) Suppose in year 2023 due to good monsoon the
production of rice has increased as compared to
year 2022, Answer the following in this situation

with an appropriate diagram :
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(i) What will be the equilibrium quantity and

price in rice market in 2023 compared to

20227

(ii) Given that inelastic demand of rice what
will be the impact of increase production

on farmers income? (12,6)

(%) WHR g0 T Ffoian wians A e )
& WE W RER AT
(i) R g Te wge T & S FeiRa
W 8
(i) uﬁa&aﬁwnﬁww%ﬂ%ﬁaﬁa
forar W @

(a)msﬂﬁq%aﬁznzs#aﬁﬂﬂ@%w
af 2022 @ O A AW W IERA WG BN W
Wﬁwwaﬁﬁ%mmwsﬂt
afere - ‘ |

B1O,
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8
(i) 20223&Wﬁ'2023ﬁwwif%.
WA ] IET @ BT
(i) @8 ¥ g fh wEw A AT AW ¥
ﬁ?ﬂﬁaﬁmwaﬂm#q&;mwm
TR ?

(a) On what factors does the incidence of tax between
buyers and sellers dépends upon explain with

diagram?

(b) Expldin with diagram how an increase in price
affects the total revenue when price elasticity of

demand is-
(1) greater than 1
(i1) less than |

(iii) equal to | (12,6)




887 9
() @AWW 3R Adaah & G aw 4 wean T R

R PR @@ R, @ g we DR

(@) 3R 7w R A A Pt 2, @ g g e
e 1 s ¥ gfs g o A 2wk wE@

?

(i) 1'@[31%'
) 1dw
(iii) 1 & R -

6. (a) In trade if a country-impose tariff on import what
would be the impact on consumer and producer
surplus, government revenue and total surplus

explain with diagram?

(b) If a country export goods in international market
explain through diagram the loss and gain of the

country?

el
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(c) Explain the absolute and comparative advantage
i trade with an appropriate cxample?

(6,6,6)

(¥) =R ¥ ol NE 2w s w R o 2 oA
I R I AR, Wl a9 iR w5
ey W Ty g ? |

(@) ol FE 2w e oo § e w1 Faia
2, @ AR B WeAw ¥ AW A F AR A A
HR? |

| (1) =R ¥ o 3R GAAIHS T Wl Yo ST I
2 w9 e AR :

7. What do you mean by externalities? Is it true that
private allocation is over-provides in the presence of

negative externality and under-provides in the presence

of positive externality? Explain, (6,12)
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11

ma‘mﬁmmmﬁ?wmw%fﬁﬁm

ST TR A0 Fry ) saffy ¥ aftrw waeT B

W R AR v aEd ww @ g X we
frn s 27w AR

o0

(a) Explain market failure? What are the different

sources of market failure? (4)

(b) Each of the residents of a small town/likes

- fireworks and places a value of Rs. 1000 on the

experience of a fireworks show in Exhibition
grounds of the tolwn.l Qn 'its founding day
celebfations. The fireworks show would cost Rs 6
Lakhs. Is it efficient for them to have the fireworks
show? If Mr. X does not givelan).r nioﬁey in a
voluntary contribution schleme,'IWhat'term could

we use to describe him? Can a private firm supply

the fireworks display on founding day? (8)

P.T.0.
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(c) What are strategic games? Explain with an

cxample. (6)

(&) woR & fRAwsa ) we F R ? T @ B 2
fafe & = 87

(@) T o m @ fafal § ¥ @ nfawern wEe
FET 2 R W D VA Ferr A sufEEeh @M HE

W 1000 o w31 e e R e

W ATt W . GEE/ 6 A T B

P 9 Fre e 27 R f X @R
mm%ﬁwaﬂ%% ??r'ﬂ'saaﬂatﬁq

m%%ﬁv%amms@nmaﬁ%? M UE

ﬁﬁwﬁwwﬁww mwﬁﬁmﬁw
%’éi%?

(1) it Qe @ B 8 7 Teh JETER B W e
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0.

Each question carries 10 marks.

Use of a simple non-programmable calculator is
allowed.

Section A

(a) Evaluate whether the following function is
continuous at x =4 : S (5)

(b) Find the Marginal Revenue (MR) and Average
Revenue (AR) for the following demand function:

Q=44 —~ 4P, Also, comment on the re_lationship :

between MR and AR. ' (5)
(a) Find d_y for the function: y =x’+x. - (5)

(b) Find out F(K(t), L(t)), F,(K(t),.L(t)) and the rate
of change of output with respect to time, for the
following production funC{idn :

Y = B(K(1), L) = KO a, b>0

where K(t) and L(t) are‘the 6_ai)ital stock and
labor stock respectively attlmet (5)
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3 The utility function of an individual is denoted by

B L
u(x) = at+—=x"" where a, b and p are positive
a

constants, and x denotes moncy income.

(a) Computc marginal utility of the individual, MU(x)
and its derivative with respect to money income.

Interpret their signs. | (5)

(b) If the Coefficient of absolute risk aversion, r,(x)

) gt
is defined as : r,(x) = — and the Coefficient

v'(x)

of relative risk aversion, I (X): _'( ) , compute
u'(x

r,(x) and rB(x). : | (5)

4. (a) Consider the demand function for canned fish in a
country: Q = 75 — P% where, Q is quantity
demanded (boxes ‘of canned fish) and P is price

per box of fish.

(i) Compute the point elasticity of dlemand for
i canned fishes when the price of a box offish

S—
) by

is Rs.7.50. Is it unit elastip/inélastic/

elastic?

(i) What happens to the point elasticity of
demand if the price falls to 5? Interpret.
' (2.5+2.5)

P.T.O.
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(b) Find out the partial elasticity of output with respect

to inputs for the following production function :
Y = [aKY + (I -a)NV]"V

where 0 < a < 1| and -0 < v-< 1. (5)

5. Consider a market model with the following demand

and supply equations :

Demand equation: Q = o — BP where o, p >0

Supply equation: Q = 0P where 6 > 0

(a) Derive the equilibrium price and quantity. Find the

partial derivative of price and quantity with respect
to a. Interpret its meaning and sign. (5)

(b) How will the equilibrium demand change if 0
increases? Use partial derivative to answer this
question. Check your results by graphical analysis.

()

6. Consider the following equilibrium condition for

national income : | it
I(Y) + G = S(Y)+ T(Y) .

where I, G, S,' Tand Y denote_iﬁ;rcsiment, government.
expenditure, savings, taxes and national income
respectively. S
Assume that G = G, all the d.'%;'r‘:_'i'\‘}'a,_'tive's are continuous,
I'(Y), S'(Y), T(Y) > 0 and.'_;I.f(Y.)l <:SY(Y) + T'(Y)
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(a) Explain the cconomic interpretation of I'(Y), S'(Y)
L . (5;

(b) Are the condition(s) of implicit function theorem
satisfied? If so, write an expression for equilibrium

identity.
y (5)

Section B

7. (a) A wine seller is in possession of a particular quality
of wine and hence is the only seller in the entire
defined market. The inverse demand and variable

cost functions are:
2

p=75-2x and VC(x) = 12x + %,_ respectively,
ty demanded and p is price per

wl_lere x is quanti
d cost of production 18 Rs. 350.

~unit. Suppose fixe

e function, total cost

,(i)' Write down the revent
f the firm. Find his

function and profit function 0
profit maximizing level of output. - %)
fit and total cost at the
part (). Also check for

for profit maximisation.

RN

(i) Calculate the pr;ic'e','pro
output level obtained in
the second order conditions

8. The cost function faced by 2 purely competitivé firm

producing tWo0 products 18 :

P.T.0.
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10,

O
C =2Q7 + 2Q; + 2Q,Q,

where, Q, and Q, denote the quantity of two products,
. * 5 4 o L I ) . [
Suppose the price of two products are : 'y = 10 and

p, = 20.

(a) Find output level of two products that satisfy the
first order condition(s) for profit maximisation.

(5)

(b) Check the second order sufficient conditions for

profit maximisation. Does this problem possess a

unique absolute maximum? ' . (5)

(a) Using derivative conditions, check whether
z = x* + y? is a concave or convex function.

(5)

(b) Find the second order total differential for the

following function: z = x’y —xy% (5)

(a) Determine the shape of the following function by
examining its first and second order derivatives,
and vertical intercept :

f(x) = 3x2 - 24x + 36 i (5)

(b) Determine the definiteness of the followmg
function: z = x* + xy+2y? (8) -




(a) Consider
stipend of Rs.
goods:

goods

Section C

a student, lllna who receives a mon thly

1000, which can be spent on-two

Apples and Bananas. Price per unit of two

Apples and Bananas are Rs. 200 and

Rs. 100 respectively.

(1)

(i)

Draw and write down her budget set. How
will her budget set change if her stipend
increases to Rs. 20007

Suppose Hina has a Cobb-Douglas Utility
function of the form -

U(A,B) = AB A>0, B>0

~ where A and B 'de.note_the number of

Apples and Bananas respectively.

Derive and Iinterpre_t the first order partial
derivatives: U, and Uy. Using the concept

~ of marginal utility, discuss why Hina would

want to purchase an infinite amount of

goods A and B, in the absence of a budget

constraint? - (2.5+2.5)

(b) Check algebraically wh.ether the following function

is quasiconcave or not?

F(x)

=g + Bx?  where f§ <0 (5)

P.T.O.
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12. Consider a consumer’s utility function :

13.

U(x, y) = x%

If the prices of goods x and y arc Rs. 3 and Rs. 4
respectively, and consumer’s income is Rs. 72, answer
the following questions :

(a) Find the values of x and y that maximize the utility
function subject to budget constraint, using
Lagrange-Multiplier method. | (5)

(b) What is the economic interpretation. of the
Lagrange multiplier? Find A°, the value of .the
Lagrange multiplier corresponding to the maximum
utility. Use this to estimate the change in the
optimal objective function value if consumer’s
income increases to Rs:73. ' (5)

Consider a utility function: U (x,y) = (x +8)(y +6). -

Suppose the price of goods x and y are Rs. 4 and
Rs. 1 respectively, and the income of the consumer is
Rs. 154. | :

(a) Using bordered hessian, check whether the second

order condition for maximum is satisfied at the *

consumption bundle: (16, 90). (5)

(b) Use total differential to write down the equation
for indifference curve. Use it to derive the slope

of the indifference curve. What is its economic
interpretation? o . (5)

(3000)

e

-
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Section—-A

(@ &)

1. What is business cycle? How does the unemployment
rate behave over the course of business cycle?

Explain.
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SR =6 &1 77 SN T D ANET Wstmd 7wy TR

F B0 anly #ik

2. Prove that:— Spvt + Sgovt - CA =1

(Where; Spvt, Sgovt, CA, and [ are Private saving,
Government saving ,Current account and investment

respectively)

Explain the economic interpretation of this identity.

frg @ifw f& - Spvt + Sgovt - CA =1

(STt Spvt, Sgovt, CA, I . Foft se aeemdt Jrdl <]

@ vd fraw 2)

= guta @ e e W

3. Explain the concept of balanced budget multiplier.

drfferd e IR <Al STEUTROT A0

P.T.0.
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4. Explain the income determination when government is

included.
wwaﬁqﬁrﬁaﬁmm%éﬁmﬁuﬁwﬁw

|

5 The size of the multiplier varies directly with the size

of the marginal propensity to consume. Do you agree

with this statement? Explain.

T W WER G I v & SER W E
e €7 J SEEd & oY 39 HUT ¥ qeAd o ( =Rl

HT

6. Describe the goods market equilibrium with the help

of desired national saving and desired investment.

Tfod TEE Tua qd shed FEaw o qeE ¥ T R
Yo T AU oY
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7.  What is the relationship between bond price and the
interest rate?
aﬁﬁﬁﬂﬁﬁ?@lﬂﬂ?%ﬁlﬂﬂﬁﬁﬂ%’f

Section-B
(W =)

1.  Define macroeconomics. Explain the major
| macroeconomic issues,
|
_ Hﬂfﬁaaﬁﬂm@rqﬁmﬁa&ﬁﬁmwﬁam%uﬂa@
i
i H U gl
i
I 2.

List the four components of total spending. Why are

imports subtracted when GDP is calculated in the

expenditure approach?

a@aﬁ%waﬁaﬁﬂﬁwaﬁlmwaﬁw

ﬁmmgﬁaﬁw%aﬁm%ﬁmﬁﬁﬁm
| ST 87

P.T.0.
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3.  Supposc that government decides to reduce transfer
payments but to increase government purchases of

goods and scrvices by an cqual amount (i.e. AG =

—ATR).

(a) Would you expect any change in the equilibrium
income to rise or fall as a result of this change?
If so, why? Check your answer with the following
numerical example; suppose that, initially, C = 0.8,
t=0.25 and Y,=600. Now let us assume that
AG =10 and ATR =-10.

A foF TR BT WA &l hd et ol i ot
2 oifchT Eg3l U9 |AI ol G @de Dl GHF AET o
T & o fvim ot 2 (s AG =-ATR)

() =@ O TE UREcT & IROH TRT Ao I | giE
T FHA A M R R ? ORISR0 I T
¥ ATH IR A W™ g A TR AR
¥, C=08, t=0.25 M Y,=600 @ AG= 10,

AG =-10.
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4.

0,

Define the net export function. An increase in marginal
propensity to import reduces the equilibrium level of
income in an open economy while an increase in
autonomous export increases the equilibrium level of

income. Explain with the help of a graph.

fae et wer i aReite =i s &t i wai
H gfg T Well i § A ® AT W A DA Al
2 vl waw e ¥ gfe @ wgem o ¥ gfe o R
@ WA ¥ T Aol

What is budget surplus? Explain why an increase in

government purchases will reduce the budget surplus.

IC R @ 27 SO fR Wl wie ¥ gg ¥ Wi
HeEry @ W B W

Explain the concept of money market equilibrium.
Explain the mechanism of how a decrease in

money supply affects the rate of interest in the money

market,

P.T.O.
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7. What is the high powered money? Explain the concept

of money multiplier.

I WA W HE T 37 T 0 @ HAURO ht AT

HoTTI

(1000)

LR e
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Section—-A

(@ &)

1. Define macroeconomics. Explain the evolution of

Classical-Keynesian debate.

Tite IriTre Y gfenfie S wiiftsa - ke =g =
e -wa @ SrEr )
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2. What is the relationship between private saving and

national saving.

Aol s o uda s @ wemw G @ 27

3. When does the unintended inventory investment get

zero? Explain with the help of a graph.

FAIUIET ST 9 e I B Wl 87 I o Fur
¥ W Aoyl

Describe the goods market equilibrium with the help

of desired national saving and desired investment.

shod U g9 99 ke Faw @ gsEd ¥ wg 9o
Uger & quiF i

The size of the multiplier varies directly with the size

of the marginal propensity to consume. Do you agree

with this statement? Explain.

P.T.O.
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Wmmiﬂmﬁmﬂhuq%%m%mq

weiel €Y A el B RN A 3@ U 8 WHAd 27 e

o)

6. Explain the effect of an increase in marginal propensity

to import on equilibrium level of income.

I B GgoH WR R A F A wgfa | gfE & e
F aU AT

7. Define demand for money. Explain Keynes’s approach

to the demand for money.

el ol AN IRARE RN A @ W o A
gitcamn &t =ren S|
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Section-B

(@ =)

. Explain the major macroeconomic issues.

T Afte e wE o swen @

g%

What is the GDP? Explain the expenditure approach

to measuring GDP.

el U I T 37 Gohel Wl IAE B AT =

gt &1 quie oo

3. Given the following data for a hypothetical economy:—
C=50+038Y,
[ = %70 Crores
G = %200 Crores,

TR = %100 Crores

Il

L= 0.2

P.T.0.
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(i) Calculate the equilibrium level of income and

multiplicr in this model.

(i1) Calculate also the budget surplus.

[ = 370 &3
G = 7200 T8
TR = %100 &%
t= 0.2

(i) T@ dReT ¥ T B G W A A W

EliEi
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i lixplain why the saving curve slopes upward and
4, [

investment curve slopes downward in the saving-

investment diagram., Explain,

Eer L FX & agd - fFRm 3IN@ ﬁaﬂﬂm‘cﬁﬁmzﬁ@.{a}{
fRm-aw AR A 3R @@ g ' B avi i

s What is the net export function? What are the shifting

factors of net export function?

ﬁg@ﬁﬂhww%?ﬁ@aﬁaﬁwﬁﬁaﬁamﬁ

et Hew M 87

6. What is the money? What are the functions of money?

w1 w1 37 R @ e w B

7. Define the money multiplier. Explain how the creation
of credit by commercial banks can have a multiplier

cffect on the money supply in the economy.

2. T.0.
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1. Answer the following questions :

(a) Explain the concepts of producer surplus and
consuiner surplus. Consider a market for apples.

Suppose the supply of apples rises. What happens

to consumer and producer surplus at the new

)

equilibrium in the market for apples?

(b) What is Price Ceiling? Does a price ceiling fixed

by the government always change the market

outcome? Give reasons for your answer. 9)

ﬁnﬁ%mﬁ%maﬁq:
mﬁmﬁﬁ

(1;5) mmﬁtm
AR H) A o]

mlﬁ%ﬁvﬁmﬂ
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FAI|

. Answer the following questions :

(a) Rahul is consuming two goods X and Y. His income

is Rs. 100. Price of Good X is Rs. 10 and the

price of Good Y is Rs. 10. 9)

(i) Given the above information, draw the

budget line for Rahul.

(ii) Suppose the price of Good X decreases to

Rs. 5. How will the budget line for Rahul

change?

(iif) Instead of a decrease in the price of Good

X, Rahul’si income increases toO Rs. 200.

How will thé budget line for Rahul change,

in comparison to Part (1)?
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(b) What is an indifference curve? Explain the
properties of indifference curves. (9)

fF=fafes vt @ 3w dfsw

(F) WES @ Fgsh X AR Y & IUN FW @ B IESH
G 100 T4 B TG X & TG 10 T 2 IR a5
Y & #d 10 T3 2

(i) SWEF THEK Fl @S §T TgA & ol Wi
@M T
(i) = e & a&g X &t | 9ot 5 o1

g I 21 Ugd @ forg wuie W 9 deentt?

(ii) a6 X & F9q A F0 D I94, TgA H JT
200 ¥4 9% q¢ WAt 21 WA (i) F qo A,
WEA & fog a9 @@ 8 FEent?

(@) SediFal g% 40 7 IeMmAl 9w ® O &l

= ?
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3. Answer the following questions :

(a) Whenever interest rates on savings increase,
households tend to save more. Is this statement
true or false? Explain with the help of income and

substitution effects. (9)

(b) It is observed that at the existing equilibrium in
the market, demand is highly inelastic while the
supply is highly elastic. If the buyers have to pay
a tax of Rs. T for each unit tﬁey buy, who will

bear the higher burden of tax: buyer or seller?

Explain why. : : )

frfafaa we @ 39K Gy

(%) 7@ W 99 W A R qed 2, o IRAR Ferh =
X @R ¥ 9% FUT @A B AW Tow! I T

nﬁm«ﬁﬁaﬁm%m?

T D).
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4. Answer the following questions :

(a) What 1s a Production Possibility Curve (PPC)?
Explain why under the usual assumptions, PPC is
bowed outward (concave to the origin). What will
be the shape of the PPC if the opportunity cost of '

Good Y in terms of Good X is constant? 9

(b) What will be the shape of indifference curve if

the two goods are: 9)
(i) Perfect Substitutes
(ii) Perfect Complements

(iii) One good is economic good, other it

economic bad



(%) IET WA A (WR) am 27 @A B aEe
RS R wEw, MR awe N s (g g A
A sEEw) wN g g R afR ae Y A FEE
FE g X ® @l ¥ faw @ @ PPC @ R w4
8Rm?

(|) ok @ sy ¥ N Ie=aT TR 1 T BAN T
(i) 9o wiaemes

(i) T w=H

(i) wmaﬁam%m—dﬁ,aﬁ&mﬁﬁw

¥ &

5. Answer the following questions :

(a) Differentiate between economies of scale and

economies of scope. 4 (9)

RY.O.

P
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(b) Mlustrate and explain the concept of Law of
Variable Proportions. In this context, differentiate
between increasing returns to a factor, constant
returns to a factor and decreasing returns to a

factor? 9)
Eafafgs wel & IR Qe

(F) am%ahﬁammaﬁtaﬁaﬁﬁamm%ﬁam

Rl

(=) “ﬁaﬁuaﬁqﬁ%ﬁmﬁmaﬁwﬁsﬂz
mmsaﬂasiif,mﬁmmmm,m
mw@zﬁzﬁﬁiﬁr@mwaﬁ&#%
Sra s W

6. Answer the following questions :

(a) Differentiate between explicit cost and implicit cost

of a firm with the help of an example. In this

e difference between economic

9)

context, explain th

profits and accounting profits.
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(b) Define perfect competition. What are its main
(9)

characteristics?

fefafas v & I o .

(F) wmaﬁm%ﬁrﬁwﬁﬁwmaﬂ?
SafiRa o @ @9 AR w39 Ged A, anfdw
3R A@ET AT B AT FR WL AR

(|) gﬁuﬁu}ﬁmaﬁmﬁaﬁngﬁﬁwmm
27

7 Answer the following questions :

(a) Differentiate between shut down point and exit

point of a firm in a perfectly competitive market.

%)

(b) Consider a firm m a perfectly competitive market

for sugar. The market price for sugar is Rs. 24

per kg. The marg

given by: MC = 3 + 7Q. Calculate the quantity of
in the market at

inal cost function for this firm is

sugar that this firm will be selling

DT O)
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equilibrium. What will be the total revenue,

revenue for the

(9)

marginal revenuc and average

firm?
frafafgg v @ IR AR

a)@aﬁwﬁmiﬁrﬁwﬁ%mmﬁgaﬂz
ﬁﬂﬁﬁ"ga‘:ﬁmm?ﬁl

(@) ﬁ%mt{ﬁuﬁwﬁwﬁwﬁwﬁﬂﬁﬁl
ﬁﬂwwﬁzamﬂaﬁﬁ@uﬂélm
mﬁ%ﬁvﬁwﬁmmmmﬁmm%:
Mc=3+7Qﬁaﬁmﬁmﬁaﬁu€mﬁ
wwm‘ﬁaﬁnwﬁma@-m,mm
R siad ToEE w1 BAm

8. Answer the following questions :

(a) Consider a firm producing output (Y) using labour
(L) and capital (K) in a perfectly competitive
market In each of the following production

functions, determine whether the firm is facing
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Increasing re

tury
1 1S 10 scale or decreasing returns

0 scale .
O Constant returns to scale.

| ) Y=L §
() Y = JIK (9)

(b) II'I continuation of Part (a), if suppose the firm is
producing 100 units of output. Write the equation

of isoquant for the two production functions given

in Part (a). %)
Ffoiaa 9ol & saw AR :

(%) of wivead aom ¥ s (L) 3R gl (K) 1 S
F@ I (Y) W IR T a6 v B W e
| Fwfaiaa Sars waw ¥ ¥ w0 ¥, 78 FuiRa
X w @ B W e Red A e W el
Re a1 Fr W PR Rest =1 W & 13 W@ 2

@) Y= LK
) ¥ = VIK

P.T.0,
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(=|) W(a)ﬁﬁfatmi’,uﬂm'&ﬁrﬁmowrﬁf
HT IJET X E Bl WA (g)i’ﬁvmifm
wEl @ fog wqee w1 R o




